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General Instructions :

(i) All questions are compulsory.

(i) Total number of queétions in this question paper is 29.

(i) Use of calculator is not permitted.
o -

(awlmasn‘m1%4awsq%aggaﬁum%l TRe 9 R 1 e FefRa
Instruction :

(A) Question Nos. 110 4 are very short answer type questions. Each question carry

1 mark.
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(Very Short Answer Type Questions)

2 4
- AR A:Fz :Jaﬁq E{s 2}

gdNA+B T AF FE BT
IfA:LL :J and B=E ﬂ
then find A + B.
-2, afd d=2i+j+k 3R B=i-4j+rk
Wﬁwﬁﬁlmuﬂm-_@f
If a=2i+j+k and B=i-4]+21k
are. mutually perpendicular, then find the value of 3.

o -3, IAGT THHIOT

dy . d
2123-)(—2— +—)}:+y=0
N P wd U T 5 ef

Find order ang degree of differential quation, -
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dx

X

Evaluate :

J‘de

X

(@) T PP 5 ¥ 12 95 oY Ik weT 3| I8 v W 2 35 FeiRa #
Instruction :

(B)- Question Nos. 5 to 12 are short answer type questions. Each question carries

2 marks.
(erg e We)

(Short Answer Type Questions)

¥ -x+1 x-—1

-5.
o X+1 X+1

F UE TG DA 2
Find the value of :

xX-x+1 x-1
X+1 X+1
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cos (sec 'x + cosec™ 'x)

F T I HIAv|
Find the value of :

cos (sec”'x + cosec 'x)

we-7. qeize f& wem
x}+3 afd x#0
f("):{ 1 gk x=0

X = 0 ) ¥ad & &l

Show that the function :

x*+3 if x=0 B
f{x)= -
(_) { 1 if x=0

is not bontinuous at x = 0.

8.t P(A)=2.P(B)=1 3R A W1 B A oS &,
a‘rP(AmB)asrtrﬁmaaﬁ%m'
If Aand B are independent event and P(A) =%,P(B) =
then find P(A ~ B).

m_g. Sﬁm‘ -\:FﬁmT .

dy 1-cos2x
dx  1+cospy P AND g1 srd Hiow) i

P_QQ“H A b - - ——



(5)

Find general solution of the gifferential equation :

dy 1-cos2x
dx 1+C0s2x

w10, 109 = cos(Vx) BT Sramey gy i 2
Find the derivative of the fungtion f(x) = cos(\/; )

TE-11. TS X B S Do W i o Fenel W e oo e # 2
Fiﬁd the direction cosine of g I;ne which makes equal angles with the

co-ordinate axis.

W-12. §F T Hiew: 2
dx S
1-tanx
Evaluate :
| dx
1-tanx
e -

(%) T i 13 F 23 7 < gy 0 € 9 PUie 14, 15 U9 21 ¥ SR fawed
# TR T W 4 35 FefRg 2
Instruction : |
(C) Question Nos. 13 to 23 are fong answer type questions. Question Nos. 14,

15 and 21 have internal chojce. Each question carries 4 marks.
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(Long Answer TyPe Questiong)

: 4
ge-13. R y = emcosx @ fyg A :

q¥-14. 3maﬁ$}%uﬁﬁﬁf(x)=4x3—6x2-72x+30mmm:ff 4
(31 FRaR adam &
@) FRR g &

Find the intervals in which the function f given by f(x) = 4x3 - 6x2 - 72x + 30

is
(a) Stfictly increasing' .

(b) Strictly decreasing

%““mﬂﬂwﬂﬁmﬁﬂ*%mmuﬁmmﬁmmm

?, am%ﬁ?ﬂﬂmﬁm&ﬁﬂmgp
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The volume of a cube |g increasing at the rate of 9 cm¥/sec. If its core is 10

cm at what rate the Surface grea is increasing ?

aﬁ_ f =4X+3 3
w15, X =6x—2'**3

ar fag IR & I X#%é;%ﬁfof(x)=x%lfaﬂuﬁﬁhﬂm=rw%?4

4x+3 2

If f()(): 6){—4':‘#5’

Prove that for every x ;%, fof(x) = x. Find inverse function of f.
_=34d OR
BT F:N>N g:N—o>Namh:No R R @R Sy @
f(x) = 2x,
oly) = 3y * 4,
h(z) =sinz ¥xvyzeN
frz e &

ho(gof) = (hog)of

o R.T.0.
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_?Nandh:N

Consider f - N > N, g : N + R defined as :

fx) = 2x,
gly) = 3y + 4,
h(z) = sin z V*x_yland zeN
Show that
ho(gof) = (hog)of
m—]s./mﬁwaﬂ%a‘rﬁ#mmﬁww (doublets) @ W &1 FEAT e

aid D A

-

A pair of dice is-thrown three times. Find the probability distribution of getting

doublets.

=17, %E ﬂﬁﬂg %3:

4
-a° ab ac
ba -bp? he =4a2bzcz
ca. ¢ch -¢?
Prove that -
ba ~b? bels 4azb2cz
Ca ¢h g2
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we-18.

HﬁrJ(

HE=-20.

(9)

Solve the differential equation
2\ dy 1
(1+x )dx+2xy:ﬁ7
where y = 0.and x = 1.
TP I S TR A 7 2 P ag 4 ¥ ¥ 3 IR wew Ao | a8 v TR @ I
2 7R e 2 B 39 W a0 o wem 6 3 39 A B Wi s B B

T W M T EE 6 P 4

A man is known fo speak truth 3 out of 4 times. He throws a dice and reports

" that it is a six. Find the probability it is actually a six.

8|=3,B|=4 ok [¢g/=5 m

e dfe bR grRT IR B B
Fﬁ%uﬁmﬁamﬁmﬂmwmi

A [&+B+8 W iy

C-232204/804-A
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. _ y
Let @ b and ¢ be three veclors s

oh that |g) 3 I6/ 4 and |¢]-5 and each

one of them being perpendicular to the Sum of the other two.

Find |d+5+d].

ge-21. fag #0m
Y ef1mx
lan&_2oos (1+x)
Prove that :
tan-f; = lcos"[u)
2 1+ X
v OR
frg R -
tan™![ X1y [ LN
\oX J 2x+1) 4
Prove that °
tan‘{f_ﬂ]_lan-»( 1 -.E
2x+1, 4
a¥q-22 Lt o
: T T e AR D
b=i-fok o & mp
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Find the area of Parallelogram whose adjacent sides are

a=30+j+4k and

b=i-j+k.
/ E (1+smx]dx
. (1+cosx)
B 4H R PR 4
Evaluate ; |
I e’ (‘Hrswnnc]ﬂx
{1+ cosx)
fodm - | *

kB

(@) wg PHid 24 § 29 aa%sﬂ%;m &l mm 26 B8 27 ¥ araRe fweT
F WEUA & T WH | 6 e Fuita &

Instruction :

(D) Question Nos. 24 to 29 are long answar type questions. Question Nos. 26- and

| 27 have internal choice. Each question carries 6 marks,

(e :mfl'ﬂ W)
(Long Answer Type Questions)

w24 WX = e A, A Ry AR | ‘ 6

dy ___logx
o {1+log x)’

-H-.-——-‘--_-_ PIT-OI
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If x¥ = <Y, prove that :

dy  logx

dx  (1+logx)

. .
Xs5nx
we-25. 'F 70X
= o 14C08°x

@ AF Sa B |

Evaluate :

* xsinx
. dx
o 1‘?‘6051

T2, TR ap x = 2 U X X = 4 H FERT E3 deeet x = a g @ AR mi F RrhE

g &, @l a & " g SRR

4 is equally divided into two

If the area bounded by the curve x = v2 and iine x =

parts by x = a. Find the value of a.

Jrmar OR

https://www.cgboardonline.com

xsmammgaxzwz:gxgdmmyﬁwxﬁnma?ﬁeaﬁaﬂa?m

Il Red

Find the :
8784 lying above x axis and included between the circle x2 + y

C-232204/804.8 ————




(13)

WET-27. THEA r%'ti:'r-i-f-i(l}:ﬁ ailk ;_(zhsh«ﬂt} 5 &yl gy feg (1

\

VTN T T @ g o B

Find the vector equation

IR s . .
plane r'["+Ji*kJ:6 and F"(2i+31+4k1=-5 and the point (1, 1, 1).

: \ /
Fya OR
N X+1 _y+1 z+1
7 6 1
14 e

x-3 y-5 z-7
1 —2 1

® dg g Q@ I9 DI

Find the shortest distance petween the lines :

X+1 y+1 z41
7

11

of the plane passing through the intersection of the

C-232204/804-A
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qeg-28.  eRE ffr & wem oz = x Y

x20,y20
Solve the following linear programming graphically :
Minimize
Z=3x+ 9y
subject to the following constraints :
X+ 3y < 60

X+y210

X220 y>p

- 13 5
AF-29. WA-[1‘1}ﬁﬂﬂﬁaaﬂqﬁﬂﬂWW$m$wﬁ o
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